Asymptotic versus Convergent series. Optimal truncation

I - Different asymptotic sequences (also known as gauges).

The asymptotic expansion of the function f(x) = tanz as x — 0 with respect to the
asymptotic sequence (or gauge) {¢,(x)}52, = {x"}22, is:
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where the Bs, are the Bernoulli numbers, and was obtained by using Taylor expansion
about z = 0. We can also write an asymptotic series for the same f(z), as x — 0 with

gauge functions {¢, ()}, = {(sinz)"}>2,.

tanx ~ Z (sinz)*™*! as x — 0, (2)

(check that {(sinz)"}>%, as * — 0 is an asymptotic sequence). While it is true that
both series (1) and (2 ) are asymptotic representations of f(x), the approximations they
provide to f(x) for z close to 0 are different. The difference decreases as x approaches 0,
but for small finite values of x it might be numerically relevant. For example for x = 0.4
the first two terms of (1) give 0.4213333 while those of (2) give 0.418945, this does not
seem much, but the error these values have with respect to the exact result are 3%, and
9%, respectively.

IT - More properties of asymptotic series.
Let f(z) be an integrable function with asymptotic representation
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then,
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See Prof. Manton’s notes page 4.
ITI - Asymptotic integrals (Stieltjes). Series using integration by parts.

See lecture 2 notes and Prof. Manton’s notes pages 4 and 5. There you will also find an
example of how to generate an asymptotic series as x — oo other than the one below.



IV - Asymptotic versus Convergent series.

The convergence properties of a series are intrinsic to the sequence formed by its coef-
ficients. In fact, given a sequence of constants corresponding to a series representing a
function, it is possible to show that the series converges even when the function that
the series represents is unknown. In contrast, to show that a series is asymptotic it is
necessary to know both, the coefficients of the series and the function to which the series
is asymptotic. It many cases a convergent series is not asymptotic and an asymptotic
series does not converge.

To understand the difference, consider the asymptotic series given by
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where {¢,(z)}22, is an asymptotic sequence as & — zo. Because we do not know if this
asymptotic series is convergent we say that this is a formal series. However, the partial
sum of the series is well defined for any finite N:

= Z an¢n(x)

For each value of z, a convergent series has a unique limiting sum F.,(z) but it does
not provide any information on how well Fy(z) approximates F..(x) for fixed N or on
how fast it converges. As we noticed last lecture, an asymptotic series does not define
a unique function f(z), but rather a whole class of asymptotically equivalent functions.
Hence, it does not provide an arbitrarily accurate approximation to f(x) when x # xo, it
only provides a good approximation for values of the function when x is sufficiently close
to zg. The quality of the approximation depends on i) how close is = to zy, and when
the series is not convergent ii) on how many terms are taken into account. However, it
is possible to find the optimal number of terms to be retained in the partial sum, and
the resulting truncation is known as the optimal truncation.

IT - Optimal truncation.

To illustrate these matters, consider the error function
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For the n-th time (n — oo) we are surprised (NOT!) of being able to use Taylor series
for t — 0 (Note: for the function e~ the series is absolutely convergent). Inserting the
series into the integral, and then integrating term by term, yields
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That the series converges for all x can be seen from the fact that the ratio
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is less than 1 for any real value of x and sufficiently large n. However, as the value of x
increases the convergence is very slow (to obtain an accuracy of 107° for x = 3 requires
the summation of more than thirty terms), and a better result can be obtained with an
asymptotic series.

To show that this is the case we shall find an asymptotic series for erf(x)
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and with the change of variables s? = ¢

erf(x) =1— —/ —s57 125

(Do you notice something familiar? You should, the first part of the course is about
Taylor series, Gamma functions and the change of variables s = t?). Now we integrate
by parts (ALERT: use of the “new” technique... Integration by parts...)
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The procedure can be iterated to any order N to obtain:
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Which leads to:
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This series diverges for any value of x because
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is larger than 1 when 2n + 1 > 222 However,
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where Cy = (2N — 1)!/(2V/T), so that
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is an asymptotic expansion for erf(z) as * — oo. Moreover, one could proceed to
calculate erf(3) for comparison and would find that to get the same accuracy it is
sufficient just adding the first two terms in (x). Unfortunately it is not possible to
improve the approximation at will by adding more terms because the ratio between two
successive terms of the series become larger than 1 as n > x2. Hence, the asymptotic
series (*) has an optimal truncation for N equal to the largest integer smaller than z?.
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which means that the series
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In this example we have encountered an asymptotic expansion of the form

I)ian¢n(x) as T — 00,
n=0

where the function g(z) o< e is bounded as # — oo. This reflects the non uniqueness

of gauge functions: since g(x) is bounded as & — oo the functions ¢, (z) = g(x)¢n(z)
form an asymptotic sequence as © — oo, thus we could equally well write f(z) ~
>, anqzn(x) as ¥ — 00. This provides additional flexibility, but should be used with
care because, as we saw in the previous example, differences between the results obtained
with different asymptotic sequences might be numerically relevant for  not too close to
point of interest.

Important result.

In general to find the optimal truncation, i.e., the one that gives the best approxi-
mation, compute the expression for the ratio between successive terms of the asymp-
totic series and, for your choice of z, find the maximum value of n = N that satisfies
|tups1/un| < 1. N = N(z) is the number of terms to be summed to obtain the best ap-
proximation for the chosen z. Once N(x) is known, the error Ry(z) can be determined.




V - Application of Optimal truncation.

We now go back to the Stieltjes Integral, for which we have found an asymptotic expan-
sion. Now we wish to know how to find the optimal truncation when p(t) is given. In
our example p(t) = e* (the simplest possible non-trivial choice). With this choice the
coefficients of the series are the trusty old:

cn:/ p(t)t" dt:/ e 't dt,
0 0

that is ¢, = n!, and the ratio between two successive terms, |u,/u,_1| = nz, becomes
larger than 1 as n > 1/x which means that the series does not converge for any = > 0.
However, for any N we have shown that Ry(z) = o(2") as z — 0 (Translation: it is
asymptotic but not convergent), and we can write
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There is a good reason we put x — 07 in this case: the lack of convergence of the
series can be traced back to the fact that the original integral is not defined for x < 0
because the integrand has a non-integrable singularity at t = 1/x, and we know that to
be convergent at a point x = x(, a power series must converge in a disk of finite radius
centered at said point, in this case z = 0.

Since the asymptotic power series does not converge, its partial sum does not provide
an arbitrarily accurate approximation to the integral for any fixed x > 0. However, for
any fixed N the error is a polynomial in z.

QUESTION: What is the optimal truncation of the series, that is, the truncation which
yields the best approximation?

ANSWER: Because |u,/u,_1| = nx becomes larger than 1 as n > 1/z, then the best
approximation occurs at N ~ 1/z, for which Ry(z) ~ (1/z)!z'/*. It is also possible
to calculate the approximate error using the Stirling formula for small z (i.e. large N):
N! ~ V27 NN¥e=N. Then, the optimal truncation has an approximated error
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Ry(x) ~ 4/ %e‘l/“” as © — 0.

Note the remarkable result that the optimal truncated sum is exponentially accurate.



